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1. If A and B are independent events with P(A) = 0.65 and P(A nB)= 0.26, then, PCB) = 

a. 0.400 

b. 0.169 

c. 0.390 

d. 0.650 

2. In a standard normal distribution, the range of values of z is from 

a. minus infinity to infinity 

b. -1 to I 

c. 0 to I 

d. -3.09 to 3.09 

3. A simple random sample of 100 observations was taken from a large population. The 

sample mean and the standard deviation were determined to be 80 and 12 respectively. The 

standard error of the mean is 

a. 1.20 

b. 0.12 

c. 8.00 

d. 0.80 

4. Consider a binomial probability experiment with n = 3 and p = 0.1. Then, the probability of 

x= 0 is 

a. 0.0000 

b. 0.0001 

c. 0.001 

d. 0.729 

5. A population has a mean of 80 and a standard deviation of 7. A sample of 49 observations 

will be taken. The probability that the sample mean will be larger than 82 is 

a. 0.5228 

b. 0.9772 

c. 0.4772 

d. 0.0228 

6. A random sample of 16 statistics examinations was taken. The average score, in the sample, 

was 76.2 with a variance of 144. The 99% confidence interval for the true average 

examination sCOre is 

a. 49.677 to 102.723 

b. 73.99 to 78.41 

c. 67.359 to 85.041 

d. 67.437 to 84.963 
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7. 	 For a one-tailed test (upper tail), a sample size of 18 at 95% confidence, t 
a. 2.12 
b. -2.12 
c. -1.740 
d. 1.740 

8. 	 The producer ofa certain medicine claims that their bottling equipment is very accurate and 

that the standard deviation of all their filled bottles is 0.1 ounce or less. A sample of20 

bottles showed a standard deviation of 0.11. The test statistic to test the claim is 

a. 400 
b. 22,99 
c. 4.85 
d. 20 

Exhibit AA 
Salary information for a random sample of male and female employees of a large company is shown 
below. 

Male Female 
Sample Size 64 36 
Sample Mean Salary (in $1,000) 44 41 
Sample Variance 128 72 

9. Refer to Exhibit AA. The standard error for the difference between the two means is 
a. 4 
b. 7.46 
c. 4.24 
d. 2.0 

10. 	 Refer to Exhibit AA. The 95% confidence interval for the difference between the means of 
the two populations is 
a. 0 to 6.92 
b. -2 to 2 
c. ·1.96 to 1.96 
d. -0.92 to 6.92 

Exhibit BB 

A statistics teacher wants to see if there is any difference in the abilities of students enrolled in statistics 

today and those enrolled five years ago. A sample of final examination scores from students enrolled 

today and from students enrolled five years ago was taken. You are given the following results. 

Today Five Years Ago 

Mean 82 88 

Variance 112.5 54 

Sample Size 45 36 

II. 	 Refer to Exhibit BB. The point estimate for the difference between the means of the two 

populations is 

a. 58.5 

b. 9 

c. -9 

d. ·6 
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12. Refer to Exhibit BB. The point estimate for the standard deviation of the difference between 

the means of the two populations is 

a. 12.9 

b. 9.3 

c. 4 

d. 2 

13. A sample of 41 observations yielded a sample standard deviation of 5. If we want to test Ho: 

0'1 = 20, the test statistic is 

a. 100 

b. 10 

c. 51.25 

d. 50 

Exhibit CC 

In order to determine whether or not a particular medication was effective in curing the common cold, 

one group of patients was given the medication, while another group received sugar pills. The results 

of the study are shown below. 

Received medication 

Received sugar pills 

Patients Cured 

70 

20 

Patients Not Cured 

\0 

50 

We are interested in determining whether or not the medication was effective in curing the common 

cold. 

14. Refer to Exhibit CC. The test statistic is 

a. 10.08 

b. 54.02 

c. 1.96 

d. 1.645 

15. Refer to Exhibit CC. The hypothesis is to be tested at the 5% level of significance. The 

critical value from the table equals 

a. 3.84 

b. 7.81 

c. 5.99 

d. 9.34 
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Exhibit DD 

You want to test whether or not the following sample of 30 observations follows a normal distribution. 

The mean of the sample equals 11.83, and the standard deviation equals 4.53. 

2 

II 

15 

3 

II 

15 

5 

12 

15 

5 

12 

16 

7 

12 

16 

8 

12 

17 

8 

I3 

17 

9 

13 

18 

16. Refer to Exhibit DO. The calculated value for the test statistic equals 

a. 0 

b. 1.67 

c. 2 

d. 6 

9 

13 

18 

10 

14 

19 

17. Refer to Exhibit DO. The hypothesis is to be tested at the 5% level of significance. The 

critical value from the table equals 

a. 1.645 

b. 1.96 

c. 7.815 

d. 12.592 

18. Refer to Exhibit DO. The conclusion of the test is that the 

a. data follows a normal distribution 

b. data does not follow a normal distribution 

c. test is inconclusive 

d. None of these alternatives is correct. 

Exhibit EE 

Part of an ANDV A table is shown below. (hint: you need to fill the table first) 

Source of Sum of Degrees Mean 

Variation Sguares of Freedom Sguare F 

Between Treatments 64 8 

Within Treatments 2 

Error 

Total 100 
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19. 	 Refer to Exhibit EE. Ifat 95% confidence we want to determine whether or not the means of 

the populations are equal, the critical value of F is 

a. 5.80 

b. 2.93 

c. 3.16 

d. 2.90 

20. 	 Refer to Exhibit EE. The conclusion of the test is that the means 

a. are equal 

b. may be equal 

c. are not equal 

d. None of these alternatives is correct. 

21. 	 In a regression model involving more than one independent variable, which of the following 

tests must be used in order to determine if the relationship between the dependent variable and 

the set of independent variables is significant? 

a. t test 

b. F test 

c. Either a t test or a chi-square test can be used. 

d. chi-square test 

Exhibit FF 

A regression and correlation analysis resulted in the following information regarding a dependent 

variable (y) and an independent variable (x). 

n = 10 

Ex = 55 

Ey = 55 

Ex2 = 385 

Ey2= 385 

Exy 220 

22. 	 Refer to Exhibit FF. The least squares estimate ofb l equals 

a. 

b. -I 

c. 5.5 

d. 11 

23. 	 Refer to Exhibit FF. The least squares estimate ofbo equals 

a. 

b. -I 

c. 5.5 

d. 11 
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24. Refer to Exhibit FF. The point estimate ofy when x == 20 is 

a. 0 

b. 31 

c. 9 . 

d. -9 

25. Refer to Exhibit FF. The sample correlation coefficient equals 

a. 0 

b. -I 

c. +1 

d. -0.5 
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